
 +1-760-591-7383   fxl.com

Replacement Parts 

DESIGNER | MODERN PATH LIGHT | M-PK

ITEM DESCRIPTION PART #

1 Top †

2 Riser †

3 Screw, #6-32 x 3/4" †

4 Screw, 1/4"-20 x 1/ 2" 250028060000

5 Screw, #6-32 x 5/ 8" 250028520000

6 Faceplate †

5-6 Faceplate Assembly MPKFPXX*

7 Gasket 250028510000

8 Lens 250028500000

9 Beam Angle Lens See LED Chart

10 Screw See LED Chart

11 Reflector See LED Chart

12 LED Board See LED Chart

13 Screw, #6-32 x 3/ 8" 250030060000

14 Screw, #6-32 x 3/4" †

15 Insert †

16 Socket, 10' (3 m) †

17 Conduit Stake, 1" (25 mm) MPL-COND-30

18 Conduit Stabilizer †

17-18 Conduit and Stabilizer Kit, 1" (25 mm) CSKITMPL

19 Deck Mount MPL-DM-XX*

*XX = Finish code
† = This part is not serviceable. Contact Customer Support or a local 
distributor to order a replacement product.

A1 E7457 DOCUMENT RELEASE DR 6/27/2019

REV ECO REVISION DESCRIPTION DRFT DATE

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 2500285300XX Main Housing, Nail 1

2 2500266700XX MDPL RISER 1

3 2500284800XX LED Housing, Nail 1

4 250028630000 90 DEGREE SOCKET, INTEGRATED LED 1

5 2500284900XX Faceplate, Nail 1

6 250028500000 Lens, PC, Batwing 1

7 250028510000 Gasket, Lens, Nail 1

8 250028520000 6-32 x .625, Captive Screw, SST 4

9 250024710000 SCREW, FH, 6-32 x .75 LG, MACH, SOCKET 2

10 7519XX PCA, LED, 1X 1
11 770000 REFLECTOR, 1X, G2 1
12 770600 DIFFUSER, 1X, G2 1
13 7701xx FILTER, COLOR, 1X, G2 1

14 762400 SCREW,  PNH, 4-40 X 3/8 LG, MACH, PHILLIPS, 
SST 2

15 250027960000 PIPE, PVC, 1.00 DIA, SCHEDULE 40 1
16 250028060000 SETSCREW, 1/4-20 X .5 LG, CUP POINT, SST 1
17 250030060000 SCREW, FH, 6-32 x 3/8, PHIL, SST 1
18 250030050000 SCREW, FH, 6-32 x 3/4, PHIL, SST 2

N/A

MPK
MATERIAL:

PRODUCT:

DRAWN
BY:

7/3/2019

SIZE: B

THIRD ANGLE PROJ.

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005

SHEET  1  OF  2

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

±1°ANGLES:

N/A

A121110772XXXX

DR MPK Assembly

1:12

DO NOT SCALE DRAWING

ALL DIMENSIONS ARE IN INCHES

SURFACE FINISH:

UNLESS OTHERWISE SPECIFIED:

PRINT
DATE:

REV.DRAWING NO.

SCALE:

Material
Spec:

Color:

TITLE:REL.
DATE:

DIMENSIONAL
TOLERANCES:

CONFIDENTIAL AND PROPRIETARY
THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

DENOTES CRITICAL INSPECTION POINTS
DENOTES FUNCTIONALLY CRITICAL POINTS

NOTES: UNLESS OTHERWISE SPECIFIED

  1.      INTERPRET DRAWING PER ASME Y14.5M-1994.
  2.      REFER TO HUNTER POL1002 FOR AN 
           EXPLANATION OF THE FX PART NUMBERS.

3.    APPLY TWO PART BLACK URETHANE POTTING, PN: 041108-FC-4 (ELLSWORTH ADHESIVES), 
  IN THE CUP ON THE UNDERSIDE OF HOUSING TO SEAL SOCKET TO HOUSING.

4.    THE SCREWS THAT HOLD THE FACEPLATE TO THE LED HOUSING SHOULD
  BE TORQUED TO 15 IN-LBS

  5.     BASE MODEL SHOWN. REFERENCE BOM MATRIX FOR ADDITIONAL OPTIONS. 

1

2

15

16

6

8

7

5

3

11
12

9
10

17

4

13

14

19
18

DIMENSIONAL
TOLERANCES:

REL.
DATE:

MATERIAL
SPEC:
PRINT
DATE:

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005
DRAWN
BY:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER.
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC.

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

A

B

C

D

4 3 2 1

TITLE:

COLOR:

SCALE:

DRAWING NO. REV.

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:1

PVC PIPE STABILIZERKL

250030990000
ANGLES: ±1°

C

D

A

B

4 3 2 1

SHEET  1  OF  1

THIRD ANGLE PROJ.

CSIZE:

10/1/2020

PRODUCT:

MATERIAL:

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

°

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

A

B

C

D

4 3 2 1

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

COLOR:

MATERIAL
SPEC:

SCALE:

DRAWING NO. REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:1

ANGLES: ±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

C

D

A

B

4 3 2 1

SHEET  1  OF  1

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005THIRD ANGLE PROJ.

CSIZE:

DRAWN
BY:

PRODUCT:

MATERIAL:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017 

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS



FXLIT-027   MPK   1/24 +1-760-591-7383   fxl.com

DESCRIPTION PART #

LED Replacement Kits (Board, Refl ector, Screws, Beam Angle Lenses)

1 LED Up Light Kit (2700K) KIT1LEDRDW

3 LED Up Light Kit (2700K) KIT3LEDRDW 

ZD 1 LED Up Light Kit (2700K) KITZD1LEDRDW

ZD 3 LED Up Light Kit (2700K) KITZD3LEDRDW 

ZDC 3 LED Kit, Medium ZDCKITM

Refl ectors

1 LED Refl ector 770000

3 LED Refl ector 770700

ZDC 3 LED Refl ector, Medium 250022050000

Screws

1 LED/3 LED Screw, #4-40 x 3/ 8" (Qty Req: 2) 762400

DESCRIPTION PART #

LED Replacement Kits (Board, Color Filters, Refl ector, Screws)

1 LED Up Light Kit (3900K) 1LEDULKIT

3 LED Up Light Kit (3900K) 3LEDULKIT 

ZD 1 LED Up Light Kit (3900K ) ZD1LEDULKIT 

ZD 3 LED Up Light Kit (3900K) ZD3LEDULKIT 

ZD 3 LED T Up Light Kit (TURTLE) ZD3LEDTKIT

Color Filter Lenses Only

1 LED Color Filter, Amber 770100

1 LED Color Filter, Blue 770101

1 LED Color Filter, Green 770102

3 LED Color Filter, Amber 770800

3 LED Color Filter, Blue 770801

3 LED Color Filter, Green 770802

Optics Kits (Color Filters, Refl ector, Screws)

1 LED Optics Kit 1LEDOPTICSKIT

3 LED Optics Kit 3LEDOPTICSKIT

2nd Gen LED Chart 1st Gen LED Chart

DESCRIPTION PART #

Round Beam Angle Lenses

1 LED Spot Lens (20o) 770600

1 LED Flood Lens (35o) 1LEDFLLENS

1 LED Wide Flood Lens (60o) 1LEDWFLLENS

3 LED Spot Lens (20o) 771300

3 LED Flood Lens (35o) 3LEDFLLENS

3 LED Wide Flood Lens (60o) 3LEDWFLLENS

Beam Angle Lens Chart

DESIGNER | ROUND BOARDS WITH BEAM ANGLE LENSES, 1/3 LED 


